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7.1 1)
a) lim (x3—3x2+x—4): lim x3(1—§+i2—i3j:(+oo)(1—0+0—0):
X—>+00 X—>+00 X X X
B) JL@O(—ZXS+x—7):JerLXS(—2+X—£—%J:(—oo)(—2+0—0):
7.1 2)
P 2 — L 2 _g i = (400 - =|+400
lim (2x* ~3x +1) = lim (2 St (+0)(2-0+0)
7.1 3)
H 2 — h 2 z_l = (400 — =|+00
JLrEO(4x +2x—7)_XILrEOX (4+X = (+0)(4+0-0)
7.1 4)
XILrEO(sz+5x+3):XIirrlx2(2+§+X—3;j:(+oo)(2+0+0)=
7.1 5)
lim (—2x° - 2x* +4x —1) = lim xs(—2—3+i2—i3j=(—oo)(—2—0+0—o)=
X—>—00 X—>—00 X X X
7.1 6)
XIerl(—7x3—8x+l):xlirrlx3(—7—%+%j:(—oo)(—7—0+0):
7.1 7)
JLrEO(—Bx4+5x2+1):Xlirﬂox4(—3+%+x—14j:(+oo)(—3+0+0)=
7.1 8)
xIi%n;]o(x“+5x3+1):XIi%r11mx“(1+§+)(—14j:(—<>o)(1+0+0)=
7.1 9

lim (—x5+3x4+2x2+x—3)= lim x5(—1+§+%+i—£j:

X—>+0 X—>+0 4 5

x x> x' X
:(+oo)(—1+0+0+0—0):

7.1 10)
Jerl(xs+x+1)=JerLxs(1+X—1zl+%j=(—oo)(1+0+0)=
7.1 11)

lim (—5x5+8x—1): lim x° (—5+%—%j:(—oo)(—5+0—0)=






